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Solutions to smp-1718-1/QZEM

Problem quickname: 1718

1

Divide by two.
a)10+2=5
2)

Divide by two.
a) 26 +2 =13
d) 60 =2 =30
g) 76 -2 =38
3)

Divide by two.
a) 124 =2 =62
d)20+2=10
g) 120 +2 =160
j) 26 +2=13
4)

Divide by two.
a) 38 +2=19
d) 76 +-2 =38
Good Luck!
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Worksheet

b) 1222 =6 ) 92+ 2 =46

b) 52 + 2 = 26 ¢) 54+ 2 =27
e) 88 + 2 = 44 f) 78 + 2 = 39
h)4+2=2 i) 98 =2 =49

b) 86 = 2 = 43 c) 144 =2 =72
e) 184+ 2 = 92 £) 2422 =12
h) 116 + 2 = 58 i) 132 + 2 = 66
b) 92 + 2 = 46 0)18+2=9
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d)82+2=41

)58 +2 =29

smp-1718-1/QZEM
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